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A city's population was 365,438 last year. This year, the number of people in

the city increased to 402,080. How many more people are in the city this year?

A factory produced 75,000 screws. A quality inspector found 6,504 screws

faulty and rejected them. How many screws passed the inspection?

10)

11)

Subtraction Across Zeros

Multi-digit: S2

1)

–

9 6 0, 2 6 0

7 9, 9 9 2

2)

–

8 0, 4 2 6

5 1, 0 2 5

3)

–

2 1 3, 0 4 5

2 0, 0 0 1

4)

–

5 1, 0 7 8

1, 2 0 4

5)

–

7 4 0, 9 0 6

4, 5 9 1

6)

–

9 7 0, 0 0 0

6 5 4, 3 7 1

8)

–

6, 0 0 2

5, 4 3 7

9)

–

1 2 6, 0 8 2

3 0, 2 6 0

7)

–

3 9, 0 2 9

2 3, 8 6 1
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